

**HYERS-ULAM-RASSIAS STABILITY OF
A LINEAR DIFFERENTIAL EQUATION**

Soon-Mo Jung¹§, Ki-Suk Lee²

¹Mathematical Section
College of Science and Technology
Hong-Ik University
339-701, Chochiwon, KOREA
e-mail: smjung@hongik.ac.kr

²Department of Mathematical Education
Korea National University of Education
Cheongwon, 363-791, KOREA
e-mail: kslee@knue.ac.kr

Abstract: In this paper, we generalize a theorem of Alsina and Ger [1] by proving the Hyers-Ulam-Rassias stability of linear differential equations, $y'(t) = \lambda y(t)$.

AMS Subject Classification: 26D10, 34A40

Key Words: Hyers-Ulam-Rassias stability, linear differential equation

1. Introduction

In 1940, S.M. Ulam gave a wide ranging talk before the Mathematics Club of the University of Wisconsin in which he discussed a number of important unsolved problems (ref. [12]). Among those was the question concerning the stability of homomorphisms:

Let G_1 be a group and let G_2 be a metric group with a metric $d(\cdot, \cdot)$. Given any $\varepsilon > 0$, does there exist a $\delta > 0$ such that if a function $h : G_1 \rightarrow G_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in G_1$, then there exists a homomorphism $H : G_1 \rightarrow G_2$ with $d(h(x), H(x)) < \varepsilon$ for all $x \in G_1$?

If the answer is affirmative, the functional equation for homomorphisms is said to have the Hyers-Ulam stability because the first result concerning the stability of functional equations was presented by D.H. Hyers. Indeed, he has answered the question of Ulam for the case where G_1 and G_2 are assumed to be Banach spaces (see [5]).

In 1978, Th.M. Rassias [10] addressed the Hyers's Stability Theorem and attempted to weaken the condition for the bound of the norm of Cauchy difference $h(xy) - h(x)h(y)$ and proved a considerably generalized result of Hyers (see also [3]). Since then, the stability problems of various functional equations have been investigated by many authors (see [2, 4, 6, 7, 8, 9, 11]).

By regarding the large influence of D.H. Hyers, S.M. Ulam, and Th.M. Rassias on the study of stability problems of functional equations, the stability phenomenon that was proved by Th.M. Rassias is called the Hyers-Ulam-Rassias stability.

Let $I = (a, b)$ be an open real interval, where we assume that a and b satisfy $-\infty \leq a < b \leq +\infty$.

C. Alsina and R. Ger were the first authors who investigated the Hyers-Ulam stability of a differential equation (see [1]). In fact, they proved that if a differentiable function $y : I \rightarrow \mathbb{R}$ satisfies $|y'(t) - y(t)| \leq \varepsilon$ for all $t \in I$, then there exists a differentiable function $g : I \rightarrow \mathbb{R}$ satisfying $g'(t) = g(t)$ for any $t \in I$ such that $|y(t) - g(t)| \leq 3\varepsilon$ for every $t \in I$.

The aim of this paper is to study the Hyers-Ulam-Rassias stability of the following linear differential equation

$$y'(t) = \lambda y(t). \quad (1)$$

More precisely, we prove that if λ is a non-zero real number and $I = (a, b)$ is an arbitrary open interval, and further if a continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the inequality

$$|y'(t) - \lambda y(t)| \leq \sum_{k=0}^n \alpha_k t^k$$

for all $t \in I$, then there exist real numbers c and α_k , $k \in \{0, 1, \dots, n\}$, such that

$$|y(t) - ce^{\lambda t}| \leq \begin{cases} \left| \sum_{k=0}^n \alpha_k t^k - \lim_{s \rightarrow b^-} \sum_{k=0}^n \alpha_k s^k e^{\lambda(t-s)} \right| & (\text{for } \lambda > 0), \\ \left| \sum_{k=0}^n \alpha_k t^k - \lim_{s \rightarrow a^+} \sum_{k=0}^n \alpha_k s^k e^{\lambda(t-s)} \right| & (\text{for } \lambda < 0), \end{cases}$$

for any $t \in I$, where we refer to (2) and (3) for the a_k 's and α_k 's.

2. Preliminaries

Following an idea of C. Alsina and R. Ger [1], we can easily prove the following lemma. So, we omit the proof.

Lemma 1. *Let I be an arbitrary non-degenerate open interval. Assume that $z : I \rightarrow \mathbb{R}$ is a continuously differentiable function and λ is a real number.*

(a) *The inequality $\lambda z(t) \leq z'(t)$ holds true for all $t \in I$ if and only if there exists an increasing continuously differentiable function $i : I \rightarrow \mathbb{R}$ such that*

$$z(t) = i(t)e^{\lambda t}$$

for all $t \in I$;

(b) *The inequality $\lambda z(t) \geq z'(t)$ holds true for any $t \in I$ if and only if there exists a decreasing continuously differentiable function $d : I \rightarrow \mathbb{R}$ such that*

$$z(t) = d(t)e^{\lambda t}$$

for all $t \in I$.

Before going through the main theorems, we prove a lemma concerning an equality of finite double series that helps to simplify the proof of Theorem 4.

Lemma 2. *For any non-zero real number λ and for any real sequence $\{a_i\}_{i=0,1,2,\dots}$, the equality*

$$\sum_{k=0}^m \sum_{i=k}^m \frac{i!a_i}{k!\lambda^{i+1-k}} t^k = \sum_{k=0}^m a_k \sum_{i=0}^k \frac{k!t^{k-i}}{(k-i)!\lambda^{i+1}} \quad (t \in \mathbb{R})$$

holds for any non-negative integer m .

Proof. We use mathematical induction on m to prove the assertion. It is trivial to show the validity of the assertion for $m = 0$. Now, assume that the assertion is true for some $m \geq 0$.

Consider the case for $m + 1$ as follows:

$$\begin{aligned} \sum_{k=0}^{m+1} \sum_{i=k}^{m+1} \frac{i!a_i}{k!\lambda^{i+1-k}} t^k &= \sum_{k=0}^m \sum_{i=k}^m \frac{i!a_i}{k!\lambda^{i+1-k}} t^k + \sum_{k=0}^{m+1} \frac{(m+1)!a_{m+1}}{k!\lambda^{m+2-k}} t^k \\ &= \sum_{k=0}^m a_k \sum_{i=0}^k \frac{k!t^{k-i}}{(k-i)!\lambda^{i+1}} + a_{m+1} \sum_{i=0}^{m+1} \frac{(m+1)!t^{m+1-i}}{(m+1-i)!\lambda^{i+1}} \end{aligned}$$

$$= \sum_{k=0}^{m+1} a_k \sum_{i=0}^k \frac{k! t^{k-i}}{(k-i)! \lambda^{i+1}},$$

where we obtain the last term in the second equality by reversing the order of summation of the last term in the first equality. We proved the validity of our assertion for $m+1$ and the proof is complete. \square

Let $I = (a, b)$ be an open real interval, where a and b satisfy $-\infty \leq a < b \leq \infty$. Assume that real numbers a_0, a_1, \dots, a_n are given with the property:

$$\sum_{k=0}^n a_k t^k \geq 0 \quad (t \in I), \quad (2)$$

where n is a fixed non-negative integer. Set

$$\alpha_k := \sum_{i=k}^n \frac{i! a_i}{k! \lambda^{i+1-k}} \quad (3)$$

for $k = 0, 1, \dots, n$ and for some non-zero real number λ . This definition yields an equality

$$\sum_{k=0}^n \lambda \alpha_k t^k - \sum_{k=1}^n k \alpha_k t^{k-1} = \sum_{k=0}^n a_k t^k \quad (t \in \mathbb{R}) \quad (4)$$

which turns out to be useful in the proof of the following theorem.

Theorem 3. *Let I be an arbitrary non-degenerate open interval and let λ be a non-zero real number. A continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the following inequality*

$$|y'(t) - \lambda y(t)| \leq \sum_{k=0}^n a_k t^k, \quad (5)$$

for all $t \in I$, if and only if there exists an increasing continuously differentiable function $i : I \rightarrow \mathbb{R}$ such that

$$y(t) = i(t) e^{\lambda t} + \sum_{k=0}^n \alpha_k t^k \quad (6)$$

and

$$0 \leq i'(t) \leq 2 \sum_{k=0}^n a_k t^k e^{-\lambda t} \quad (7)$$

for any $t \in I$.

Proof. First, assume that a continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the inequality (5). Equivalently, y satisfies

$$\lambda y(t) - \sum_{k=0}^n a_k t^k \leq y'(t) \leq \lambda y(t) + \sum_{k=0}^n a_k t^k \quad (8)$$

for each $t \in I$.

Define a function $z_1 : I \rightarrow \mathbb{R}$ to be

$$z_1(t) = y(t) + \sum_{k=0}^n \alpha_k t^k.$$

Then, z_1 is continuously differentiable on I . If we differentiate $z_1(t)$ with respect to t , then

$$z_1'(t) = y'(t) + \sum_{k=1}^n k \alpha_k t^{k-1}.$$

Subtract $\lambda z_1(t)$ from the above equality and make use of (4) and the second inequality in (8):

$$z_1'(t) - \lambda z_1(t) = y'(t) - \lambda y(t) - \sum_{k=0}^n a_k t^k \leq 0.$$

Thus, $z_1'(t) \leq \lambda z_1(t)$ holds for any $t \in I$.

According to Lemma 1 (b), there exists a decreasing continuously differentiable function $d : I \rightarrow \mathbb{R}$ such that

$$z_1(t) = y(t) + \sum_{k=0}^n \alpha_k t^k = d(t) e^{\lambda t} \quad (9)$$

for all $t \in I$.

Now, let $z_2 : I \rightarrow \mathbb{R}$ be a continuously differentiable function defined by

$$z_2(t) = y(t) - \sum_{k=0}^n \alpha_k t^k.$$

By a similar way to the first part, we conclude that $z_2'(t) \geq \lambda z_2(t)$ is true for all $t \in I$. Hence, Lemma 1 (a) implies that there exists an increasing continuously differentiable function $i : I \rightarrow \mathbb{R}$ such that

$$z_2(t) = y(t) - \sum_{k=0}^n \alpha_k t^k = i(t) e^{\lambda t} \quad (10)$$

for each $t \in I$. Hence, we have the equality (6).

It follows from (9) and (10) that

$$y(t) = d(t)e^{\lambda t} - \sum_{k=0}^n \alpha_k t^k = i(t)e^{\lambda t} + \sum_{k=0}^n \alpha_k t^k.$$

By differentiating the above equalities and by using (9) and (10) again, we have

$$\begin{aligned} d'(t)e^{\lambda t} + \lambda y(t) + \sum_{k=0}^n \lambda \alpha_k t^k - \sum_{k=1}^n k \alpha_k t^{k-1} \\ = i'(t)e^{\lambda t} + \lambda y(t) - \sum_{k=0}^n \lambda \alpha_k t^k + \sum_{k=1}^n k \alpha_k t^{k-1} \end{aligned}$$

and further

$$d'(t) = i'(t) + 2 \left(\sum_{k=1}^n k \alpha_k t^{k-1} - \lambda \sum_{k=0}^n \alpha_k t^k \right) e^{-\lambda t} \leq 0,$$

since d is decreasing. Hence, considering the equality (4), we get the inequalities of (7) from the last inequality.

Conversely, assume that a continuously differentiable function $y : I \rightarrow \mathbb{R}$ is given by the representation in (6), where $i : I \rightarrow \mathbb{R}$ is a continuously differentiable function satisfying (7). Differentiate $y(t)$ and then subtract $\lambda y(t)$ from $y'(t)$ to get

$$y'(t) - \lambda y(t) = i'(t)e^{\lambda t} + \sum_{k=1}^n k \alpha_k t^{k-1} - \lambda \sum_{k=0}^n \alpha_k t^k$$

for all $t \in I$. Finally, by using (4) and (7), we obtain

$$-\sum_{k=0}^n a_k t^k \leq y'(t) - \lambda y(t) \leq \sum_{k=0}^n a_k t^k$$

for any $t \in I$. The last inequalities are equivalent to (5). \square

3. Hyers-Ulam-Rassias Stability of Differential Equation (1)

In the following theorem, we prove the Hyers-Ulam-Rassias stability of the differential equation (1) which obviously improves a result of Alsina and Ger (see Remark of [1]).

In the proof of the following theorem, we make use of the formula concerning integration

$$\int \tau^k e^{-\lambda\tau} d\tau = - \sum_{i=0}^k \frac{k! \tau^{k-i}}{(k-i)! \lambda^{i+1}} e^{-\lambda\tau}, \quad (11)$$

for $k = 0, 1, 2, \dots$

Theorem 4. *Let λ be a non-zero real constant. Assume that $I = (a, b)$ is an arbitrary open interval with $-\infty \leq a < b \leq \infty$. If a continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the inequality (5) for all $t \in I$, then there exists a real number c such that*

$$|y(t) - ce^{\lambda t}| \leq \begin{cases} \left| \sum_{k=0}^n \alpha_k t^k - \lim_{s \rightarrow b^-} \sum_{k=0}^n \alpha_k s^k e^{\lambda(t-s)} \right| & (\text{for } \lambda > 0), \\ \left| \sum_{k=0}^n \alpha_k t^k - \lim_{s \rightarrow a^+} \sum_{k=0}^n \alpha_k s^k e^{\lambda(t-s)} \right| & (\text{for } \lambda < 0), \end{cases} \quad (12)$$

for all $t \in I$.

Proof. First, we will prove our theorem for $\lambda > 0$. Define

$$c := \lim_{s \rightarrow b^-} \left\{ i(s) + \sum_{k=0}^n \alpha_k s^k e^{-\lambda s} \right\},$$

where $i : I \rightarrow \mathbb{R}$ is an increasing continuously differentiable function which is given in Theorem 3 (see the inequalities just below for the existence of c).

Due to the fundamental theorem of calculus, if we integrate the inequalities in (7) from t to b and take the integration formula (11) into account, then

$$\begin{aligned} 0 &\leq \lim_{s \rightarrow b^-} i(s) - i(t) = \int_t^b i'(\tau) d\tau \leq 2 \sum_{k=0}^n a_k \int_t^b \tau^k e^{-\lambda\tau} d\tau \\ &= -2 \lim_{s \rightarrow b^-} \sum_{k=0}^n a_k \sum_{i=0}^k \frac{k! s^{k-i}}{(k-i)! \lambda^{i+1}} e^{-\lambda s} + 2 \sum_{k=0}^n a_k \sum_{i=0}^k \frac{k! t^{k-i}}{(k-i)! \lambda^{i+1}} e^{-\lambda t}. \end{aligned}$$

By Lemma 2 and (3), we further obtain

$$0 \leq \lim_{s \rightarrow b^-} i(s) - i(t) \leq -2 \lim_{s \rightarrow b^-} \sum_{k=0}^n \alpha_k s^k e^{-\lambda s} + 2 \sum_{k=0}^n \alpha_k t^k e^{-\lambda t}.$$

In view of the definition of c , the last inequalities are changed into

$$0 \leq c - \lim_{s \rightarrow b^-} \sum_{k=0}^n \alpha_k s^k e^{-\lambda s} - i(t) \leq -2 \lim_{s \rightarrow b^-} \sum_{k=0}^n \alpha_k s^k e^{-\lambda s} + 2 \sum_{k=0}^n \alpha_k t^k e^{-\lambda t}.$$

Multiply the last inequalities by $e^{\lambda t}$ and add $\lim_{s \rightarrow b^-} \sum_{k=0}^n \alpha_k s^k e^{\lambda(t-s)} - \sum_{k=0}^n \alpha_k t^k$ to the resulting inequalities. Then, we take (6) into account to get the inequality (12).

Now, let λ be a negative real constant and define

$$c := \lim_{s \rightarrow a^+} \left\{ i(s) + \sum_{k=0}^n \alpha_k s^k e^{-\lambda s} \right\}$$

(see Theorem 3 for the increasing continuously differentiable function $i : I \rightarrow \mathbb{R}$). We integrate the inequalities in (7) from a to t and then we can prove our theorem for $\lambda < 0$ by a similar way as before. \square

Corollary 5. *Let λ be a non-zero real constant and define*

$$I = \begin{cases} (a, \infty) & (\text{for } \lambda > 0), \\ (-\infty, b) & (\text{for } \lambda < 0), \end{cases}$$

where $a \in \mathbb{R} \cup \{-\infty\}$ and $b \in \mathbb{R} \cup \{\infty\}$ are fixed. If a continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the inequality (5) for all $t \in I$, then there exists a unique real number c such that

$$\left| y(t) - ce^{\lambda t} \right| \leq \left| \sum_{k=0}^n \alpha_k t^k \right| \quad (13)$$

for all $t \in I$.

Proof. According to Theorem 4, there exists a real number c such that the inequality (13) holds for any $t \in I$. Hence, we only need to prove the uniqueness of c .

Suppose c_1 is another real number with which the inequality (13) is satisfied. In view of the triangle inequality and (13), we get

$$\begin{aligned} |c - c_1| &\leq e^{-\lambda t} |y(t) - c_1 e^{\lambda t}| + e^{-\lambda t} |c e^{\lambda t} - y(t)| \\ &\leq 2e^{-\lambda t} \left| \sum_{k=0}^n \alpha_k t^k \right| \end{aligned}$$

$$\rightarrow 0 \quad \text{as either } t \rightarrow \infty \text{ for } \lambda > 0 \text{ or } t \rightarrow -\infty \text{ for } \lambda < 0,$$

which completes our proof. □

Theorem 4 and Corollary 5 state that each solution of the inequality (5) can be approximated by a solution of the differential equation (1) within a distance depending on t . Unfortunately, there is no efficient way to find out the constant c occurring in (12) or in (13), even though we can get some information on the behavior of $y(t)$ from Theorem 3.

However, if an initial condition, namely $y(a)$, is known, then the following corollary may help to evaluate the lower and upper bounds for $y(t)$.

Theorem 6. *Let a be a real constant and let $I = (a, b)$ be an arbitrary non-degenerate open interval. Assume that a function $y : I \cup \{a\} \rightarrow \mathbb{R}$ is continuously differentiable on I and continuous at a on the right. If y satisfies the inequality (5) for any $t \in I$, then*

$$\begin{aligned} \left(y(a) - \sum_{k=0}^n \alpha_k a^k \right) e^{\lambda(t-a)} + \sum_{k=0}^n \alpha_k t^k &\leq y(t) \\ &\leq \left(y(a) + \sum_{k=0}^n \alpha_k a^k \right) e^{\lambda(t-a)} - \sum_{k=0}^n \alpha_k t^k, \end{aligned}$$

for all $t \in I$.

Proof. Define $c := \lim_{s \rightarrow a^+} i(s)$, where $i : I \rightarrow \mathbb{R}$ is given in Theorem 3. Let us integrate the inequalities in (7) from a to t by using the formula (11). Then,

$$0 \leq i(t) - c \leq 2 \sum_{k=0}^n a_k \int_a^t \tau^k e^{-\lambda\tau} d\tau = -2 \sum_{k=0}^n \alpha_k t^k e^{-\lambda t} + 2 \sum_{k=0}^n \alpha_k a^k e^{-\lambda a},$$

where the last equality follows from Lemma 2 and (3).

Multiply the inequalities by $e^{\lambda t}$ and add $\sum_{k=0}^n \alpha_k t^k$ to the resulting inequalities and then take the equality in (6) into account. Then, we get

$$\sum_{k=0}^n \alpha_k t^k \leq y(t) - ce^{\lambda t} \leq - \sum_{k=0}^n \alpha_k t^k + 2 \sum_{k=0}^n \alpha_k a^k e^{\lambda(t-a)},$$

or

$$ce^{\lambda t} + \sum_{k=0}^n \alpha_k t^k \leq y(t) \leq \left(ce^{\lambda a} + 2 \sum_{k=0}^n \alpha_k a^k \right) e^{\lambda(t-a)} - \sum_{k=0}^n \alpha_k t^k.$$

Furthermore, if we let $t \rightarrow a^+$ in (6), then we have

$$y(a) = ce^{\lambda a} + \sum_{k=0}^n \alpha_k a^k.$$

The above inequalities together with this equality yield the validity of our assertion. \square

4. Some Examples

In this section, let λ be a non-zero real number and define

$$I = \begin{cases} (a, \infty) & (\text{for } \lambda > 0), \\ (-\infty, b) & (\text{for } \lambda < 0), \end{cases}$$

where $a \in \mathbb{R} \cup \{-\infty\}$ and $b \in \mathbb{R} \cup \{\infty\}$ are arbitrarily given.

If we let $a_k = 0$ for $k = 1, 2, \dots, n$, then Corollary 5 deals with the Hyers-Ulam stability of the differential equation (1).

Example 1. Assume that a continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the inequality

$$|y'(t) - \lambda y(t)| \leq \varepsilon$$

for all $t \in I$. Let $a_0 = \varepsilon$ and $a_k = 0$ for $k = 1, 2, \dots, n$. Then, $\alpha_0 = \varepsilon \lambda^{-1}$ and $\alpha_k = 0$ for $k = 1, 2, \dots, n$. According to Corollary 5, there exists a unique real number c such that $|y(t) - ce^{\lambda t}| \leq \varepsilon |\lambda|^{-1}$ for any $t \in I$.

Example 2. Let a_0 and a_1 be given with $a_0 + a_1 t \geq 0$ for any $t \in I$. Then, $\alpha_0 = a_0 \lambda^{-1} + a_1 \lambda^{-2}$ and $\alpha_1 = a_1 \lambda^{-1}$. Assume that a continuously differentiable function $y : I \rightarrow \mathbb{R}$ satisfies the inequality

$$|y'(t) - \lambda y(t)| \leq a_0 + a_1 t$$

for all $t \in I$. Due to Corollary 5, there exists a unique real number c such that $|y(t) - ce^{\lambda t}| \leq |a_0 \lambda^{-1} + a_1 \lambda^{-2} + a_1 \lambda^{-1} t|$ for all $t \in I$.

References

- [1] C. Alsina, R. Ger, On some inequalities and stability results related to the exponential function, *J. Inequal. Appl.*, **2** (1998), 373-380.
- [2] G.L. Forti, Hyers-Ulam stability of functional equations in several variables, *Aequationes Math.*, **50** (1995), 143-190.

- [3] Z. Gajda, On stability of additive mappings, *Internat. J. Math. Math. Sci.*, **14** (1991), 431-434.
- [4] P. Găvrută, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, *J. Math. Anal. Appl.*, **184** (1994), 431-436.
- [5] D.H. Hyers, On the stability of the linear functional equation, *Proc. Nat. Acad. Sci. U.S.A.*, **27** (1941), 222-224.
- [6] D.H. Hyers, G. Isac, Th.M. Rassias, *Stability of Functional Equations in Several Variables*, Birkhäuser, Boston-Basel-Berlin (1998).
- [7] D.H. Hyers, Th.M. Rassias, Approximate homomorphisms, *Aequationes Math.*, **44** (1992), 125-153.
- [8] S.-M. Jung, Hyers-Ulam-Rassias stability of functional equations, *Dynamic Sys. Appl.*, **6** (1997), 541-566.
- [9] S.-M. Jung, *Hyers-Ulam-Rassias Stability of Functional Equations in Mathematical Analysis*, Hadronic Press, Palm Harbor (2001).
- [10] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, *Proc. Amer. Math. Soc.*, **72** (1978), 297-300.
- [11] Th.M. Rassias, On the stability of functional equations and a problem of Ulam, *Acta Appl. Math.*, **62** (2000), 23-130.
- [12] S.M. Ulam, *Problems in Modern Mathematics*, Chapter VI, Wiley (1964).

